Falcon HR

Catalog of Mounts
Updated 5-5-2017



Table of Contents

FALCON HR MOUNTS AND HOLSTERS
UNIVERSAL MOUNTS- ANY CAR MAKE, MODEL, YEAR

7” Pod Dash Mount (Part Number: 200-1531-00) PAGE 2 OF 15
7” Handheld Dash Mount (Part Number: 200-2113-00) PAGE 3 OF 15
12” Handheld Dash Mount (Part Number: 200-2113-10) PAGE 4 OF 15
Tripod Center Mount (Part Number: 200-2166-00) PAGE 5 OF 15

FORD MODELS SUPPORTED- INTERCEPTOR
Interceptor Mount (Part Number: 050-1877-00) PAGE 6 OF 15

MOTORCYCLES- (Note: Mounts for Victory motorcycles must be ordered through the Victor Dealer. No kits are currently available
for Yamaha or Suzuki. KSI mounts cover police models only. Mounting may not work with civilian models.)

UNIVERSAL MOUNTS
Motorcycle Handlebar Mount (Part Number: 050-0776-00) PAGE 7 OF 15

BMW MODELS SUPPORTED- 1200RTP, 1200RT
2010-2013 Handlebar Mount (Part Number: 050-0776-01) PAGE 8 OF 15
2009-2013 Holster with Mount (Part Number: 050-0861-02) PAGE 9 OF 15

HARLEY DAVIDSON MODELS SUPPORTED- ELECTRA GLIDE, ROAD KING
2006-2013 Handlebar Mount (Part Number: 050-0776-00) PAGE 10 OF 15
2006-2013 Holster and Mount (Part Number: 050-0661-00) PAGE 11 OF 15

KAWASAKI MODELS SUPPORTED- KZP 1400 CONCOURSE
2009-2013 Handlebar Mount (Part Number: 050-0776-00) PAGE 12 OF 15
2009-2013 Holster with Mount (Part Number: 050-0861-01) PAGE 13 OF 15

HONDA MODELS SUPPORTED- ST 1300 PA
2007-2013 Handlebar Mount (Part Number: 050-0776-00) PAGE 14 OF 15
2007-2013 Holster with Mount (Part Number: 050-0861-01) PAGE 15 OF 15




@

KUSTOM SIGNALS, INC.

7” POD DASH MOUNT

Vehicles: Universal Car
Model Years: Universal

Location: Dash

Products: Falcon HR with Pod

ORDER PART NUMBER 200-1531-00

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

SEE NOTE 4

NOTES:

. PLACE COMPLETED ASSEMBLY INTO 035-0329-00 (PLASTIC BAGI ALONG WITH 050-0093-00
(KIT, RADAR DASH MOUNT)

2. POSITION SUCTION CUPS WITH RELEASE TABS UP.

3. PLACE ONE DROP OF SUPER BONDER 414 ILOCTITE) ON THREADS OF SUCTION CUP END OF STUD
BEFORE ASSEMBLING TOGETHER.

4. PLACE A SMALL AMOUNT OF LOCTITE 222 ON THREADS BEFORE INSTALLING NUT.

SEE NOTES 2 2 3

REFERENCE BILL OF MATERIAL 200-1531-00

14 1 KIT, RADAR DASH MOUNT 050-0093-00
13 1 BAG, PLASTIC 9 X 24 035-0329-00
12 2 SUCTION CUP 090-0297-00
11 2 WASHER, INTERNAL TOOTH #8 089-8500-05
10 4 SCREW, PHILLIPS PAN HEAD MACHINE #6-32 X .3125 089-3062-05
9 1 KNOB, FEMALE 090-0298-00
8 1 TALON SWIVEL MOUNT 047-3280-02
7 1 NUT, ELASTIC STOP 10-32 089-2310-22
6 1 SPRING WASHER 089-8801-01
5 2 SHOULDER WASHER 090-0004-06
4 3 NYLON WASHER .878 O.D. X .253 LD. 090-0103-02
3 1 SLIDER BRACKET 7" 047-1244-04
2 1 DASH TOP BRACKET 7" 047-1246-02
1 1 DASH BOTTOM BRACKET 7" 047-1245-03
Ttem Quantity Title Document
Number Number
REVISIONS
REY ATE BY e
0 12-98 | sHar | ws
| 499 [sHav | s
2 499 [ sHaY | ws
3 05-15-07 | s | 777
. " SEVEN INCH DASH MOUNT TALON
o ST\ OUNTS
e "™ 300-1054-00 B




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

7” HANDHELD DASH MOUNT

Vehicles: Universal Car

Model Years: Universal

Location: Dash

Products: Falcon HR with Handle

ORDER PART NUMBER 200-2113-00




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

12” HANDHELD DASH MOUNT

Vehicles: Universal Car

Model Years: Universal

Location: Dash

Products: Falcon HR with Handle

ORDER PART NUMBER 200-2113-10

REFERENCE BILL OF MATERIAL 200-1991-00
18 2 WASHER, INTERNAL TOOTH #8 089-8500-05
17 2 POP RIVET, DOME HEAD STAINLESS STEEL 092-0089-00
16 172" TAPE, 3M SCOTCH VHB 1" WIDE 012-0063-00
15 1 BRACKET BACKUP PLATE 047-3978-02
14 1 BRACKET, NO-POD TALON MOUNT 047-3977-02
13 1 MAGNET, NO-POD TALON 090-0754-00
12 1 TALON DASH MOUNT GASKET 187-0209-01
11 1 TALON DASH MOUNT GASKET 187-0209-00
10 1 NUT, ELASTIC STOP 10-32 089-2310-22
9 6 NYLON WASHER .878 O.D. X .253 L.D. 090-0103-02
8 1 TALON DASH MOUNT BRACKET 047-3937-02
7 2 SUCTION CUP, WITH KNURLED NUT 090-0297-00
6 4 SCREW, PHILLIPS PAN HEAD MACHINE #6-32 X .3125 089-5062-05
5 1 DASH BOTTOM BRACKET 7" 047-1245-03
4 2 SHOULDER WASHER 090-0004-06
3 2 KNOB, FEMALE 090-0298-00
2 1 BRACKET, DASH TOP 12" 047-112502
1 1 TALON DASH MOUNT SLIDE 047-3938-01
Item Quantity Title Document
Number Number
REVISIONS
FEV. ECO DATE ar APE L
0 lae fioiood | sm MS <
4376 | 10-25-05] s 775 |
=
=
[TOLERANCES UNLESS N _
tucsin T ASSEMBLY, TALON I
e |2 INCH DASH MOUNT
Y5 03 ORI
e " TALON I
[SCALE EX P/ S
REF, o 300-1442-00 B




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

TRIPOD CENTER MOUNT

Vehicles: Universal

Model Years: 2013-Present
Location: Center Dash Tray
Products: Falcon HR

ORDER PART NUMBER 200-2166-00

ASSEMBLED VIEW

REFERENCE BILL OF MATERIALS 200-2166-00

6 1 GASKET. FALCON HR CRADLE 187-0226-00
5 1 GASKET. FALCON HR CRADLE 187-0226-01
4 1 MACHINE SCREW TRUSS HEAD PHITLIPS 1/4 - 20X 089-5893-12
3/4 INCHES
3 1 BRACKET. FALCON HR TRIPOD 047-4400-00
2 2 NYLON WASHER. 878 0.D. X .2531D. 090-0103-02
1 1 ROD 4" THREADED 076-0240-00
Ttem Quantity Title Document
Number Number

REVISIONS SE | THE

v 200 DaTE BY se
a REL 12-23-09| SHW SHEL |7

EXPLODED VIEW

ASSEMBLY, FALCON HR TRIPOD MOUNT

o ST FALCON HR
[SCALl SHT o =
S P 300-1538-00 B

NOTES:
PLACE ADHESIVE-BACK CORK FIRMLY INTO PLACE ON ITEM 3 BRACKET




@

KUSTOM SIGNALS, INC.

Interceptor Mount

Vehicles:
Model Years:
Location:
Products:

Ford Interceptor
2012-Present

Dash Board, Center Dash Tray
Falcon HR

ORDER PART NUMBER 050-1877-00

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

TIMG HOLES I
CEFTOR SECAN

HOLES (M
LIV

CENTER TRAY IN LAYOUT

IN SEDAN - REMOVE BOLTS AMD INSTALL MAIN BRACKET AND USE THE
LOMNGER MBX35 BOLTS

[N SUY - REMOVE TRAY AND MOUNTING 8OLTS  MARK BOLT HOLE
LOCATIONS AND DRILL HOLES IN TRAY REPLACE TRAY AMD MOUNT
BRACKET USING THE EXISITING BOLTS

lbern Drocurment Number Title Cuaritity
Number
| 047-6445-00 MAIN BRACKET- FORD INTERCEPTOR
2 092-0003-35 SELF CLINCH FASTENER 114 - 20 3
3 I 5-0727-08 " RUBBER BALL Wili4™-20 ALIUM STLID |
4 083-5004- |8 BOLT-ASME GR MEBX3SMM BLE Z
g 050-0776-000I KIT, FALCON HR MOTOREYCLE SHORTILONG |
HANDLEBAR
REVISIONS SE | D
Lot it E
gev | g0 mare | By e ey gt _@}
o aE I P i
- SO 5-[-13
oF TN
I' B o e
manneT be lend Lo o of Ry o
parl
TITLE
FORD MTERCEPTOR FALCOM MOUNT
SRR
"™ 050-1877-00 B




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

Motorcycle Handlebar Mount

Vehicles: All Motorcycles with Tube Handlebar
Model Years: 2012-Present

Location: Handlebar

Products: Falcon HR

ORDER PART NUMBER 050-0776-00

NOTES
I. 050-0776-00 = HANDLEBAR KIT
050-0776-01 = BMW KIT

REFERENCE BILL OF MATERIALS - 050-0776-00/01

5 1 DOUBLE BALL AND SOCKET ARM 015-0727-01
4 1 BASE, MOTORCYCLE HANDLEBAR (-01 ONLY) 015-0727-00
3 1 DOUBLE SOCKET ARM FOR 1" BALLS 015-0727-03
2 1 BASE WITH U-BOLT & 1" BALL (-00 ONLY) 015-0727-04
1 1 ASSEMBLY, FALCON HR MOTORCYCLE MOUNT 200-2114-00
Item Quantity Title Document
Number Number
REVISIONS SE | TR
wev | eco DATE Bt AR FROECToN _@ _E_ iy ;ET:LLS'\M
y p [pRR a 66720-
0 | REL_|12-12.06 | ms 715 e " 06 oA e 2ot Ty
W s d to the holder
D ol of promises ond
I DATE og e ar capied i ay
2775 4243 0fp | T belantio nar be disposed of entrely or in
ITOLERNCES RLESE g
A NOES INESE OO D TTLE KT, FALCON HR MOTORCYCLE
Xt HOLES 2005 SHORT/LONG HANDLEBAR
e wnzue [N pyeon e
SCALE ST T P T
| REF. oF | 006-1063-00 B




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

2010-2013 Handlebar Mount

Vehicles: BMW 1200 RTP
BMW 1150 RTP
Model Years: Universal
Location: Handlebar
Products: Falcon HR with Handle

ORDER PART NUMBER 050-0776-01

NOTES
|. 050-0776-00 = HANDLEBAR KIT
050-0776-01 = BMW KIT

REFERENCE BILL OF MATERIALS - 050-0776-00/01

5 1 DOUBLE BALL AND SOCKET ARM 015-0727-01
4 1 BASE, MOTORCYCLE HANDLEBAR (-01 ONLY) 015-0727-00
3 1 DOUBLE SOCKET ARM FOR 1" BALLS 015-0727-03
2 1 BASE WITH U-BOLT & 1" BALL (-00 ONLY) 015-0727-04
1 1 ASSEMBLY, FALCON HR MOTORCYCLE MOUNT 200-2114-00
Item Quantity Title Document
Number Number
REVISIONS SE | TR
3 . [PRN I3
0 | REL [12-12-06 | wS 715 Ve 12-12-06 | 3
I [DATE of
SO oAl e
e AT it snall not be reproded of copied 1 any
) 72430l o e lent to athars, nor be disposed of entrrely or n
TOLERANCES LNLESS NOTED - DIMENSIONS ARE]
AL s L TTLE KT, FALCOM HR MOTORCYCLE
o fovte eo0s SHORT/LONG HANDLEBAR
o wanzie IR careonie
SCALE SHT T PN TIE
REF. oF | 006-1063-00 B




k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

2009-2013 Holster with Mount

Vehicles: BMW 1200 RTP
BMW 1150 RTP
Model Years: 1999-Present
Location: Crash Bar
Products: Falcon

ORDER PART NUMBER 050-0861-02

REFERENCE BILL OF MATERIALS:050-0861-02
6 4 | NUT, ELASTIC LOCK 1/4-20 089-2312-55
BMW EXPLODED VIEW 5 4 |BOLT, ALLEN SOCKET HEAD CAP, BLK. 1/4-20X.5" 089-6245-08
SIREN MOUNT ON BMW 4 2 |NUT,NYLONLOCK. 10-32SS 089-2310-55
CRASH BAR REFERENCE. 3 2 | WASHER, #8 FLAT 089-8301-07
2 1 BRACKET HOLSTER MOUNT, BMW 047-4571-00
1 1 ASSY, HOLSTER FALCON HR 200-2263-00
Item Quantity Title Document
Number Number
REVISIONS [T =
REV ECO DATE BY APE :"g:ECTICN _@%
- P > BRN DATE
0 REL 03-15-12| SDM MS DM 91611
NOTES
I. BRACKETS ARE TO BE MOUNTED TO THE SIREN MOUNT
2. MOUNT THE BRASKER TO THE BIKE AND THEN ATTACH THE HOLSTER TO THE BRACKET. S
MOUNT, FHR HOLSTER, BMW
N FaLCON HR
N 006-0990-02 B




@

KUSTOM SIGNALS, INC.

2006-2013 Handlebar Mount

Vehicles: Harley Davidson Electra Glide
Harley Davidson Road King

Model Years: 1999-2013

Location: Handle Bar

Products: Falcon HR with Handle

ORDER PART NUMBER 050-0776-00

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

NOTES
1.050-0776-00 = HANDLEBAR KIT
050-0776-01 = BMW KIT

REFERENCE BILL OF MATERIALS - 050-0776-00/01

5 1 DOUBLE BALL AND SOCKET ARM 015-0727-01
4 1 BASE, MOTORCYCLE HANDLEBAR (-01 ONLY) 015-0727-00
3 1 DOUBLE SOCKET ARM FOR 1"BALLS 015-0727-03
2 1 BASE WITH U-BOLT & 1" BALL (-00 ONLY) 015-0727-04
1 1 ASSEMBLY, FALCON HR MOTORCYCLE MOUNT 200-2114-00
Item Quantity Title Document
Number Number
REVISIONS SE

pev | eco DATE BY. il

Q REL _|12-12-06 | MS 215

KUSTOM SIGHALS, INC
1010 W CHESTNT
s
of W, ar -

rmanner, be lent o others, nar be disposed of entrely of n

part

TTLE KIT, FALCOM HR MOTORCYCLE

SHORT/LONG HANDLEBAR

YN EALCON HR

0I5
SCALE ST T PN i3
REF. 2]

oF | 006-1063-00

10



k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

2006-2013 Holster and Mount

Vehicles: Harley Davidson Electra Glide
Harley Davidson Road King

Model Years: 1999-Present

Location: Rear Saddlebag

Products: Falcon HR with Handle

ORDER PART NUMBER 050-0861-00

REFERENCE BILL OF MATERIALS=
HARLEY - USE 050-0861-00

WASHER, #8 FLAT 089-8301-07
NUT, NYLON LOCK 10-32 88, 089-2310-55
NUT, ELASTIC LOCK 1/4-20 089-2312-55
SCREW, MACH TRUSS HD, 1/4-20X7/16" 089-5893-07
CLAMP, EMPD CUSHIONED, 7/8" DIA 090-0827-00
BRACKET, HOLSTER MOUNT, HARLEY 047-4570-00
ASSY, HOLSTER FALCON HR 200-2263-00
HARLEY EXPLODED VIEW ., conunr seom g Tem | Quantity Title Document
REFERENCE Number Number
REVISIONS
o P R =l (E
0 | REL | 0352 soM | MS R

NOTES - 5 con

|. BRACKETS TO BE MOUNTED TO SADDLE BAG BARS. el 80911

2. MOUNT BRACKET TO BIKE THEN ATTACH THE HOLSTER TO THE BRACKET. = P

NSTR. FHR MC HOLSTER
T papar

i PN 006-0390-00

o i

11



@

KUSTOM SIGNALS, INC.

2009-2013 Handlebar Mount

Vehicles: KZP 1400 Concourse
Model Years: 2009-2013

Location: Handlebar

Products: Falcon HR with Handle

ORDER PART NUMBER 050-0776-00

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

NOTES

1. 050-0776-00 = HANDLEBAR KIT
050-0776-01 = BMW KIT

REFERENCE BILL OF MATERIALS - 050-0776-00/01

5 1 DOUBLE BALL AND SOCKET ARM 015-0727-01
4 1 BASE, MOTORCYCLE HANDLEBAR (-01 ONLY) 015-0727-00
3 1 DOUBLE SOCKET ARM FOR 1"BALLS 015-0727-03
2 1 BASE WITH U-BOLT & 1" BALL (-00 ONLY) 015-0727-04
1 1 ASSEMBLY, FALCON HR MOTORCYCLE MOUNT 200-2114-00
Item Quantity Title Document
Number Number
REVISIONS SE | THRD
REV £Co DATE EY AR ;:gl::rm _6 G km( ,(MJSFT\,?‘ g;i“ﬁtf}'“
v " [oRN TE E6720-
O | REL |12-12-06 | MS Yrake) " 2-12-06 | o - .
T - T [
SJw Jed e
=0 OATE _ e
e 7230l rnr. bt I o, ox b disposed o entesy o

TOLERANCES LFLESS M

par
TTLE KT, FALCON H

M RCHES UN ESS SRECFED O
R

LS £
HOLES £005
NGH = 17167

R MOTORCYCLE

SHORT/LONG HANDLEBAR

UNTEALCON HR

"™ 006-1063-00

T

B

12



@

KUSTOM SIGNALS, INC.

2009-2013 Holster with Mount

Vehicles: KZP 1400 Concourse
Model Years: 2009-2013

Location: Crashbar

Products: Falcon HR with Handle

ORDER PART NUMBER 050-0861-01

SIREN MOUNT ON
CRASH BAR REFERENCE.

HONDA EXPLODED VIEW

NOTES:
|. BRACKETS ARE TO BE MOUNTED TO THE SIREN MOUNT.
2 MOUNT BRACKET TO THE BIKE FIRST THEN ATTACH THE HOLSTER TO THE BRACKET.

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

REFERENCE BILL OF MATERIALS:050-0861-01

8 3 NUT, ELASTIC LOCK, 1/4-20 089-2312-55
7 3 WASHER, #4 FLAT TYPEB 089-8302-10
6 3 WASHER, SPRING §.S. 255ID 089-8021-00
5 3 BOLT, 1/4-20X1" UNC 089-6076-11
4 2 WASHER_ #8 FLAT 089-8301-07
3 2 NUT, ELASTIC LOCK 10-32 8.8 089-2310-55
2 1 BRACKET, HOLSTER MOUNT, HONDA 047-4569-00
1 1 ASSY, HOLSTER FALCON HR 200-2263-00
Ttem Quantity Title Document
Number Number
REVISIONS
RS e] et BY s
REL 03-15-12| SDM | MS

MOUNT, FHR HOLSTER, HONDA/KAWA

UNT £l CONHR

™ 006-0990-0I

o i

13



@

KUSTOM SIGNALS, INC.

2007-2013 Handlebar Mount

Vehicles: ST 1300 PA
Model Years: 2007-2013
Location: Handlebar
Products: Falcon HR with Handle

ORDER PART NUMBER 050-0776-00

CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS
006-0555-10 REV 2

NOTES
1. 050-0776-00 = HANDLEBAR KIT
050-0776-01 = BMW KIT

REFERENCE BILL OF MATERIALS - 050-0776-00/01

5 1 DOUBLE BALL AND SOCKET ARM 015-0727-01
4 1 BASE, MOTORCYCLE HANDLEBAR (-01 ONLY) 015-0727-00
3 1 DOUBLE SOCKET ARM FOR 1"BALLS 015-0727-03
2 1 BASE WITH U-BOLT & 1" BALL (-00 ONLY) 015-0727-04
1 1 ASSEMBLY, FALCON HR MOTORCYCLE MOUNT 200-2114-00
Item Quantity Title Document
Number Number
e e O S e
Q REL |12-12-06 | mS 215 P VS T 21206 | o CHANJTE. KS 66720-1429

DENTIAL, THE SOLE PROPERTY
ciosed to ider

Fmanner, be fant fo athers, nor be disposed of entrely of n

] par
T KIT, FALCON HR MOTORCYCLE

SHORT/LONG HANDLEBAR

UNTEALCON HR

"M 006-1063-00 B

14



k((((((( CATALOG OF MOUNTS- RADAR PRODCTS
FALCON HR RADAR MOUNTS

KUSTOM SIGNALS, INC. 006-0555-10 REV 2

2007-2013 Holster with Mount

Vehicles: ST 1300 PA

Model Years: 2007-Present
Location: Crashbar

Products: Falcon HR with Handle

ORDER PART NUMBER 050-0861-01

REFERENCE BILL OF MATERIALS:050-0861-01

8 3 |NUT ELASTIC LOCK, 1/4-20 089231255
7 3 | WASHER #4 FLAT TYPE B 089-8302-10
6 3 |wasHER sPRINGSS. 255D 089-8021-00
5 3 |BoLT, 1/4-20%1" UNC 089-6076-11
4 2 |wasHER #8FLAT 089-8301-07
3 2 |NUT ELAsTICLOCK 103258 089231055
2 1 |BRACKET, HOLSTER MOUNT, HONDA 047-4569-00
1 1 |ASSY, HOLSTER FALCON HR 200-2263-00
<
e i [ o
o Number Number
REVISIONS SE TR
Fev | o AT BY e c {% EH
o - - - DRN DATE
REL 03-15-12] SDM MS g 1611
_ o

NOTES i L

I. BRACKETS ARE TO BE MOUNTED TO THE SIREN MOUNT. MOUNT, FHR HOL STER, HONDA/KAWA

2. MOUNT BRACKET TO THE BIKE FIRST THEN ATTACH THE HOLSTER TO THE BRACKET e [T EA CON TR

M N 006-0990-0I B

15





